Scots performing edition: Jamie Reid Baxter

Harmonisation: David Peebles, ed. Mick Swithinbank

Text: William Whittingham, Scottish Psalter (Charteris 1596; Smyth 1599)

Psalm 133

Tune: Anglo-Genevan Psalter 1547

Tenor/Kirk Part
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beard throwe- oot,

wat no' Aa-ron's heid a - lane but drencht his

It

spent.

27

. . . . . . . . N
L2 9l |82 2 ERIE 2 S %5 |63
T = [QLL = 0| = © @ @
g g |o|| € ¢|||| € 91|
| g T E LU EA E
1T g Ql g T g g = = = =
X 2 Tore W2 > ! | ' ' o EWlE o 2 o) 2
1 1 1 1 St S St St
[} Q [} [}
A A ~ - £ 8|2 (B2 9|2 I g g
N| = N| = N = = T = UL = 179 = NS
- - - - © Qe Moo Q| e 3z z z z
nRERIN R e TR = M= [TNE [MH =
- - [t 4 4 4=
T Il ol B ol B
Ll o L[] = L= L] =
gl 2z ellg ||g]sg 2 ¢l |A]|E ||||908 ||} £
Z (Q/1g 912 |0 &
& & & &
=) =) =] =1 o o o o
d £ 0|l (4| E g o [l o o |0 E RIS |||fE z
< < < < A2 A2 v W | =2 =] =) =) =)
R R=! Q= Ml .E
= = = = H 5 H-HS HHB HH B 0| B g 708 TN &
ol E ol £ [allE || E © ° © © Sl = =
= - - - .- | 1 ] ]
T =
— W v W 1t — i — — p—
. p— AV\\\.I 0\\\ .- O pr=i O\\\.l O .- V\\ C—
‘\Au M O\\\ M nV\\w.M m ko] ko] kol L w2 LT w L 75} AEEN )
E4HE BHE BHUE |y
A = O = A = O - (] — —
™ — — ™ — —
5 M5 [R5 [N| 5 Tee Qe |08 @l B
2
.2 .2 L .9 mE < 2 2 2 T - - T
||m| - |m|| - 0|||| - = il anu = |mHL1a |wH = 0= [Q|E 0= g =
1 1 1 1 e HEEE EEEE EEEE EEEE
H £
T < < < < 41 O — [} [} L 411
o £ |NLE N E = 2 ols N = N § [MLE TIN[E | §
TR & & Ol & & M 2 [alllg TRl g Tl 2 T v Mo 10| | o N &5
a5 M|/ 5 0| 8 g g Z |esE 10| = o5 gl|s (4|5 ||6] %
N HI.N N N N N N |MhV LN N
N NEe= NEe= SN N N> AN| =N NDox NG M
\ / T\ / T\ /
&= < e &= < & m &= < = M



Wl = W= ° = W | =
™ 5 M = = “ =
& & & &
| -8 qQ = alll-8 2
| 8 Y| S TE M E
N E Q| & |[allg Nl g
[z} 72} 172} 72}
ALL.E QLS |QLLE QLU .E
w2 v w2 v
| 2 2 z 2
B = M E P‘mnv‘ =
172} 172} 172} 172}
IHEREIERNERUIIE
(] o (] o
¢l 5 0|||5 |Al|E g
< LS| < LS|
Tl § oL § |®§ || §
— — — —
o 8 8 |8 N 8
CLH & ] & ] & 1] &
RIS
T8 |0l E (NLE ol 8
2 2 2 2
o 2 0|2 |92 2
gl g0l 8 |4l ¢ 5
=] =1 =] =
R
2| |||E= =

il N . . N

AL N <\ N

\ /
&= < ] M

48

3 3 < 3 2 2 2 2
gz 0l|Z2 ||d|2 £ 4 2 dl|E |0 &
+¥ o = <= <= &) &) O O
. . - N g = = =
IR = ! 5 9| 2 |#|| = ‘E k=
N N N N S = 10| = ql||| =
N
[oR [oR [oR o 1T 1T 1T ! ! ! !
ol & ol 8 T | 3 ] | | | |
o e - — — — — ™| g RS T TR &
3 =R IERIEE
2 e Inle 2 o T = o
he) he) T o | I I I
2 2 2 2 £ (M8 NHHE 9| £
TN mld m orlm m TN 8 L8 TN 8 ol 8
-~ -~ -~ ~ NEEE BEEE 111 BEEE
7 8 (M8 ol & ol 8
nn TTT] nn N i N N T |17
g |@]| 8 g (9| §
(] (] (] (]
o Mw 0 Mv_w o Mw %
£ £ ||| E q| E e lalllE |loll2 flll e
0] [[]] @ (L1l v (L1l v (1T - -
T 2 Al 2 |allE 2 o
| =
il g | = 5 R NHE R 8
ol 2 Q]| g |allg S
sQU(E s M s 0= (Ql= |||0ls ||@]=
. . . N L T T T T
4l E 9E (R E 5 5 5 1| &
" " " L : : o 8 INLg HAl 8 (ol 8
1} 1} 1} 15} B — - - - =
q| < |G| S 9| & s TN E AU E [NLE QUL E g g g g
HH g HHHE HHHE CHE nng H
(]
- - - - -+ =
e 8 |NH-8 NLE g T2 D2 MHE T = =R [fH=
w2 w2 w2 v .
TN &8 |MEE o B 5 N g Rg Teg T8
= = = = A - = =
Q Q Q Q ) ) ) )
omomom m g RS g3 0] 8 0 2 g/||% (8] & ||@ %
L. T |da| | T [da|| T o <) N o [N <) den o I Im.nv [N I\
N N NGe= 2 NI No» Ne= (| = NG N> Ne= 4N
\ / O\ / O\ /
&= < = &= < e o &= < & m



101

61

ol
laist.

gl z9|z Z
N
gl = k=] o
175] 175]
WIE
(5] ] (5]
Gzl % o
Tl € Q| S T S ||
| < s g
NS |NLs NS L
0 2 |@].2 0.2 o
N HI.N LN LON
NG NEex Ne= TN
\
&= < = 2

sall

aye

an'

noo,

is



